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Area enclosed by an ellipse 

 

1. Rectangular equation 

 The standard form :  1
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 The curve is symmetric about both the x and y axes.  

 We need to find the area in the first quadrant  

 and multiply the result by  4 . 
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 Put  x = a sin  .   dx = a cos  d .    When  x = a,   = /2  .  When  x = 0,   = 0 . 

   Area =   


 


d
2

2cos1
ab4dcosab4dcosasinaa

a

b4
2

0

22

0

2222

0
 

    ab
2

ab2
2

2sin
ab2d2cos1ab2

2

0

2

0

















 





  

2. Parametric equation 
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3. Polar equation 

 By putting  
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